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IÊS> H$ 

17 1 17  17×1=17 

1.  I  H$m {_bmZ  II  go H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE :    

 
I

  
II

 

i. Zm°W© g|Q>́b 1. {gH§$Xam~mX 

ii. B©ñQ> g|Q>́b 2. Bbmhm~mX/à`mJamO 

iii. doñQ> g|Q>́b 3. hmOrnwa  

iv. gmCW g|Q>́b 4. O~bnwa   

   {dH$ën : 
(a) i  1, ii  2, iii  3, iv  4 (b) i  4, ii  3, iii  2, iv  1 

(c) i  3, ii  4, iii  1, iv  2 (d) i  2, ii  3, iii  4, iv  1 

2. ^maV _mZd {dH$mg  Ho$ {H$g g§dJ© _| h¡ ?  
(a)  (b)  
(c) _Ü`_     (d) {ZåZ    

3. noQ>́mo{b`_, noQ´>mo{b`_ CËnmXm| Ed§ Cd©aH$m| H$mo J«hU H$aZo Ho$ {bE ~Zm`m J`m nÎmZ h¡ :    
(a) Ý ỳ _§Jbwé    (b) hpëX`m  

(c) H$m§S>bm   (d) VyVrH$mo[aZ    
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General Instructions : 
Read the following instructions carefully and follow them : 
(i) This questions paper contains 30 questions. All questions are compulsory. 
(ii) This question paper is divided into five sections  Sections  A, B, C, D and E. 
(iii) Section A  Questions no. 1 to 17 are multiple choice (MCQ) type questions.  
(iv) Section B  Questions no. 18 and 19 are source based questions.  
(v) Section C  Questions no. 20 to 23 are Short Answer (SA) type questions. 

Answer to these questions shall be written in 80 to 100 words.  
(vi) Section D  Questions no. 24 to 28 are Long Answer (LA) type questions. 

Answer to these questions shall be written in 120 to 150 words.  
(vii) Section E  Questions no. 29 and 30 are Map based questions.  

SECTION A 

There are 17 multiple choice questions in this section (Q. No. 1  17).  
All questions are compulsory.  17 1=17 

1. Match Column I with Column II and choose the correct option :  

 
Column I 
(Railway zone)  

 
Column II 
(Headquarter)  

i. North Central  1. Secunderabad  

ii. East Central 2. Allahabad/Prayagraj  

iii. West Central 3. Hajipur  

iv. South Central 4. Jabalpur  

 Options :  

(a) i  1, ii  2, iii  3, iv  4 (b) i  4, ii  3, iii  2, iv  1 

(c) i  3, ii  4, iii  1, iv  2 (d) i  2, ii  3, iii  4, iv  1 

2.  

(a) Very high  (b) High  

(c) Medium  (d) Low 

3. The port designed to receive petroleum, petroleum products and 
fertilizers is :  

(a) New Mangaluru  (b) Haldia  

(c) Kandla  (d) Tuticorin   

www.studentbro.inwww.studentbro.inwww.studentbro.in



  

64/1/3 4  

4. ŷ_Ü`gmJar` H¥${f H$s {ZåZ{b{IV _| go H$m¡Z-gr EH$ _hÎdnyU© {deofVm h¡ ?      

(a) ImÚmÞ µ\$gbm| H$m CËnmXZ    

(b) A§Jya Ed§ IÅ>o \$bm| H$m CËnmXZ       

(c) {VbhZ µ\$gbm| H$m CËnmXZ       

(d) aoeoXma µ\$gbm| H$m CËnmXZ     

5. ghH$mar H¥${f H$m Am§XmobZ {ZåZ{b{IV Xoem| _| go {H$g_| gdm©{YH$ g\$b ahm h¡ ?  

(a) ỳZmBQ>oS> qH$JS>_      (b) O_©Zr  

(c) S>oZ_mH©$   (d) ~«mµOrb   

6. {XE JE g§gmYZm| gm_wXm{`H$ g§gmYZm|  go g§~§{YV ghr {dH$ën H$m M`Z 
H$s{OE : 
I. J«m_rU Obme`m|  

II. J«m_rU H¥${f ŷ{_   

III. J«m_rU [ahm`er ŷ{_   

IV. MamJmh ŷ{_   

{dH$ën :   

(a) Ho$db I d II ghr h¢ &  (b) Ho$db II d III ghr h¢ & 

(c) Ho$db III d IV ghr h¢ & (d) Ho$db I d IV ghr h¢ & 

7. AmYw{ZH$ ^maVr` ^mfmAm| H$mo ~mobZo dmbm| H$s g§»`m Ho$ AZwgma A{YH$V_ go Ý`yZV_ Ho$ 
ghr H«$_ dmbo {dH$ën H$mo Mw{ZE :      

(a) ^maVr`- -{Vã~Vr    

(b) ^maVr`- -{Vã~Vr 
(c) - ỳamonr`, MrZr-{Vã~Vr Ed§ Am°pñQ>́H$  

(d) S>, Am°pñQ>́H$, ^maVr`- ỳamonr` Ed§ MrZr-{Vã~Vr 

8. {ZåZ{b{IV amÁ`m| _| go {H$gH$s 2001 go 2011 Ho$ XeH$ _| OZg§»`m d¥{Õ Xa gdm©{YH$ h¡ ? 

(a) _{Unwa   (b) ZmJmb¢S>  

(c) {_µOmoa_   (d)  
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4. Which among the following is an important speciality of the 
Mediterranean agriculture ?  

(a) Production of food grain crops  

(b) Production of grapes and citrus fruits  

(c) Production of oil seeds crops  

(d) Production of fibre crops 

5. In which of the following countries has the movement of co-operative 
farming been most successful ?  

(a) United Kingdom  (b) Germany  

(c) Denmark  (d) Brazil  

6. Read the given resources and choose the correct option related to 
 

 I. Village water bodies 
 II. Village agriculture land 
 III. Village residential land  
 IV. Pasture land  
 Options :  

(a) Only I and II are correct. (b) Only II and III are correct.  

(c) Only III and IV are correct. (d) Only I and IV are correct.  

7. Choose the correct option in order of number of people speaking modern 
Indian languages from maximum to minimum :  

(a) Indo-European, Dravidian, Austric and Sino-Tibetan  

(b) Indo-European, Austric, Dravidian and Sino-Tibetan 

(c) Dravidian, Indo-European, Sino-Tibetan and Austric 

(d) Dravidian, Austric, Indo-European and Sino-Tibetan 

8. Which one of the following states has the highest population growth rate 
during 2001 to 2011 decade ?  

(a) Manipur  (b) Nagaland  

(c) Mizoram  (d) Sikkim  
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9. 
M`Z H$s{OE :    
I. OÝ_ Xa H$mo {Z §̀{ÌV H$aZm  
II.  

III. _{hbmAm| Ho$ ñdmñÏ` H$mo ~ohVa H$aZm  

IV.  
{dH$ën :   

(a) Ho$db I, II Ed§ IV ghr h¢ &  (b) Ho$db I, II Ed§ III ghr h¢ &  
(c) Ho$db II, III Ed§ IV ghr h¢ & (d) Ho$db I, III Ed§ IV ghr h¢ & 

10. {ZåZ{b{IV _| go {H$g amÁ` H$m OZg§»`m KZËd g~go H$_ h¡ ?   
(a) AéUmMb àXoe    (b) ZmJmb¢S>    
(c) {_µOmoa_     (d)     

11. ? 

(a) Ag_, ZmJmb¢S>, _{Unwa      

(b) JwOamV, _hmamîQ́>, JmoAm   >  

(c) Amo{S>em, npíM_ ~§Jmb, {~hma    

(d) V{_bZmSw>, H$Zm©Q>H$, Ho$ab  

12. ?   
(a) O_©Zr     (b) ñdrS>Z    
(c) Am°ñQ´>o{b`m    (d) S>oZ_mH©$      

13. {ZåZ{b{IV H$WZm| H$m AÜ``Z H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE :   
 I : gyMZmAm| Ho$ A§H$sH$aU Ho$ gmW Xÿag§Mma H$m Yrao-Yrao H$åß ỳQ>a Ho$ gmW 

{db` hmo J`m &     
II : n[aUm_ñdê$n EH$ g_pÝdV ZoQ>dH©$ ~Zm {Ogo B§Q>aZoQ> Ho$ Zm_ go OmZm 

OmVm h¡ & 
 {dH$ën :    

(a) Ho$db H$WZ I ghr h¡ & 
(b) Ho$db H$WZ II ghr h¡ & 
(c) H$WZ I d II XmoZm| ghr h¢, H$WZ II, H$WZ I H$m ghr n[aUm_ h¡ & 
(d) H$WZ I d II XmoZm| ghr h¢, H$WZ II, H$WZ I H$m ghr n[aUm_ Zht h¡ & 

14. {ZåZ{b{IV _| go H$m¡Z-gm àdmg Ho$ à{VH$f© H$maH$ go g§~§{YV h¡ ?   
(a) àmH¥${VH$ {dnXmE± (b) AZwHy$b Obdm ẁ   
(c) OrdZ d g§n{Îm H$s gwajm  (d) em§{V d ñWm{`Ëd 
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9. Read the following statements regarding objectives of family planning 
and choose the correct option :  

 I. Control the birth rate 
 II. Spacing the birth of children  
 III.  
 IV. Reducing the death rate of children  
 Options :   

(a) Only I, II and IV are correct. (b) Only I, II and III are correct.  
(c) Only II, III and IV are correct. (d) Only I, III and IV are correct.  

10. In which of the following states has the lowest density of population ?  
(a) Arunachal Pradesh   (b)  Nagaland  
(c) Mizoram   (d)   Sikkim  

11. In which of the following groups of states are Dravidian languages 
spoken ? 
(a) Assam, Nagaland, Manipur  
(b) Gujarat, Maharashtra, Goa  
(c) Odisha, West Bengal, Bihar  
(d) Tamil Nadu, Karnataka, Kerala  

12. Which one of the following countries has the highest rank in Human 
Development Index ?  
(a) Germany    (b)   Sweden  
(c) Australia    (d)   Denmark  

13. Study the following statements and choose the correct option :  
Statement I :  With the digitisation of information, telecommunication 

slowly merged with computers.  
Statement II : It resulted in integrated networks termed as Internet.  
Options :  
(a) Only Statement I is correct.  
(b) Only Statement II is correct.  
(c) Statements I and II both are correct, Statement II is the correct 

result of Statement I.  
(d) Statements I and II both are correct, Statement II is not the 

correct result of Statement I.   

14. Which one of the following is related to push factor of migration ?  
(a) Natural disasters   (b)  Pleasant climate   
(c) Security of life and property  (d)  Peace and stability  
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15 17 

 a_oe AZw~§Y Ho$ AmYma na VbMa (Amo{S>em H$m H$mò bm joÌ) _| {Z_m©U ñWb na 
{nN>bo Xmo dfm] go EH$ doëS>a Ho$ ê$n _| H$m`© H$a ahm h¡ & dh AnZo R>oHo$Xma Ho$ gmW-gmW 
Xoe-^a _| {d{^Þ OJhm|, O¡go {H$ gyaV, _w§~B©, Jm§YrZJa, ^ê±$M, Om_ZJa Am{X ZJam| _| 
OmVm h¡ & dh à{Vdf© AnZo n¡V¥H$ Jm±d _| {nVm Ho$ nmg < 20,000 ôOVm h¡ & CgHo$ Ûmam 
ôOo JE n¡go _w»`V: 

hmoVo h¢ & Hw$N> n¡go H¥${f, µO_rZ H$s IarX VWm Kam| Ho$ {Z_m©U, Am{X na ^r IM© hmoVo h¢ & 
a_oe Ho$ n[adma Ho$ ahZ-ghZ H$m ñVa gmW©H$ ê$n go gwYam h¡ &  

 15 df© nhbo, hmbmV Eogo Zht Wo & n[adma ~hþV hr H${R>Z n[apñW{V`m| go JwOa ahm 

H$µO© _| Sy>~m hþ
Vmo dh Am¡a ^r H${R>Z n[apñW{V`m| _| {Ka J`m &  

 Bgr g_`, a_oe AnZo Jm±d Ho$ Hw$N> g\$b CËàdm{g`m| go à^m{dV hþAm, Omo 
bw{Y`mZm _| H$m_ H$a aho Wo Am¡a Jm±d _| AnZo n[admam| H$mo n¡go Am¡a Cn^moº$m dñVwE± ôO 
H$a nmb-nmog aho Wo & Bg Vah n[adma H$s H§$Jmbr Am¡a bw{Y`mZm _| Zm¡H$ar H$m ^amogm 
nmH$a dh AnZo {_Ì Ho$ gmW n§Om~ Mbm Am`m & CgZo 1988 _| bw{Y`mZm H$s EH$ D$Z 
\ < 20 à{V{XZ H$s _µOXÿar na 6 _mh VH$ H$m_ {H$`m & AnZr Bg Aën Am` _| 
d¡`{º$H$ IMm] H$m BVµOm_ H$a nmZo H$s _wpíH$b Ho$ gmW-gmW, Cgo ZB© g§ñH¥${V Am¡a 

CgZo AnZo XmoñV Ho$ _mJ©Xe©Z na bw{Y`mZm go gyaV (JwOamV) _| H$m_ H$aZo H$m {ZU©̀   
{b`m & gyaV _| CgZo dopëS>¨J Ho$ H$m ©̀ H$aZo H$m H$m¡eb grIm Am¡a BgHo$ ~mX dh Cgr 
R>oHo$Xma Ho$ gmW AbJ-AbJ OJhm| na OmVm ahVm h¡ & hmbm±{H$ a_oe Ho$ Jm±d _| CgH$s 

AñWm`r Am¡a ñWmZm§VaUr` h¡ &  

15. {ZåZ{b{IV _| go H$m¡Z-gm hþ§S>r H$m AW© h¡ ?     
(a) àdm{g`m| Ûmam ôOm J`m YZ      

(b) àdm{g`m| Ûmam H$_m`m J`m YZ   

(c) àdm{g`m| Ûmam {H$`m J`m IM©     

(d) àdm{g`m| Ûmam {b`m J`m G$U     
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Read the case study given below and answer Q. No. 15 to 17.   

  Ramesh has been working in contract as a welder on a construction 
site in Talcher (coal region of Odisha) for the last two years. He moved 
with the contractor to various places like Surat, Mumbai, Gandhi Nagar, 
Bharuch, Jamnagar and so on. He remits  20,000 per year to his father in 
his native village. The remittances have been mainly used for daily 
consumption, healthcare, schooling of children, etc. Part of the money is 
also used in agriculture, purchasing of land and building of houses, etc. 
The s  

  Fifteen years ago, the situation was not the same. The family was 
passing through very tough times. Three of his brothers and their families 
had to survive on three acres of land. The family was highly in debt. 
Ramesh had to discontinue his studies after ninth standard. He was 
further hard pressed when he got married.  

  Simultaneously, he was also impressed by some successful  
out-migrants of his village who had been working in Ludhiana and 
supporting their families in the village by sending money and some 
consumer goods. Thus, due to abject poverty in the family and perceived 
job promises at Ludhiana, he made a move to Punjab with his friend. He 
worked there in a woolen factory for six months at the rate of only  20 per 
day in 1988. Apart from the crisis of managing his personal expenditure 
from this meagre income, he was also facing difficulty in assimilation to 
the new culture and environment. Then he decided to change his place of 
work from Ludhiana to Surat under the guidance of his friend. He learnt 
the skills of welding in Surat and after that he has been moving to 
different places with the same contractor. Though the economic condition 

separation of his near and dear ones. He cannot shift them with him, as 
the job is temporary and transferable.  

15. Which one of the following is the meaning of remittance ?  

(a) Money sent by migrants   

(b) Money earned by migrants  

(c) Money spent by migrants   

(d) Loan taken by migrants  
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16. ^maV _| J«m_rU-ZJar` àdmg H$m à_wI H$maU h¡ :     
(a) {ejm      

(b) amoOJma   

(c) ñdmñÏ`     

(d) n ©̀Q>Z     

17. {ZåZ{b{IV _| go H$m¡Z-gm J«m_rU-ZJar` àdmg H$m EH$ OZm§{H$H$s` n[aUm_ h¡ ?      
(a) J§Vì` ñWb Ho$ AmYma^yV T>m±Mo na X~md      

(b) CX²J_ ñWb na _µOXÿam| H$m A^md   

(c) Am ẁ Ed§ qbJ g§aMZm _| Ag§VwbZ     
(d) J§Vì` ñWb na g§ñH¥${V H$m {_lU  

IÊS> I 

18 19 

18. o$ CÎma {b{IE : 3 1=3  

  
Ho$ nmg OmVo h¢ & H$^r-H$^r AmnHo$ _mVm-{nVm CnMma Ho$ {bE AmnH$mo AñnVmb bo OmVo  

 pñW{V _| H$mZyZr am` 
dH$sb go br OmVr h¡ & Bgr àH$ma AZoH$ ì`dgm`r hmoVo h¢ Omo \$sg H$m ^wJVmZ hmoZo na 
AnZr godmE± àXmZ H$aVo h¢ & AV: g^r àH$ma H$s godmE± {d{eîQ> H$bmE± hmoVr h¢ Omo ŵJVmZ 
Ho$ ~Xbo àmßV hmoVr h¢ & ñdmñÏ`, {ejm, {d{Y, àemgZ Am¡a _Zmoa§OZ BË`m{X H$mo 
ì`mdgm{`H$ Hw$ebVm H$s Amdí`H$Vm h¡ & BZ godmAm| H$mo AÝ` g¡Õm§{VH$ kmZ Am¡a 
{H«$`mË_H$ à{ejU H$s Amdí`H$Vm hmoVr h¡ Am¡a Aä`mg BÝh| nyU© ì`mdgm{`H$ ~ZmVm h¡ & 

U© 

Ñ{îQ> go à{e{jV {deofk Am¡a nam_e©XmVmAm| Ûmam hmoVm h¡ &  

  
_| H$m ©̀ H$aVm Wm & EH$ {dH${gV AW©ì`dñWm _| ~hþg§»`H$ l{_H$ V¥Vr`H$ {H«$`mH$bmnm| _| 

 

(18.1) {ÛVr`H$ Ed§ V¥Vr`H$ {H«$`mH$bmnm| _| à_wI A§Va H$mo ñnîQ> H$s{OE & 1  

(18.2) V¥Vr`H$ {H«$`mH$bmn {H$g àH$ma CËnmXZ Am¡a {d{Z_` XmoZm| go g§~§{YV h¢ ?  1 

(18.3) {H$Ýht Xmo V¥Vr`H$ {H«$`mH$bmnm| H$m CëboI H$s{OE &  
2
1

+
2
1

=1 
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16. The main cause of rural-urban migration in India is :  
(a) Education   
(b) Employment  
(c) Health   
(d) Tourism  

17. Which one of the following is the demographic consequence of  
rural-urban migration ?  
(a) Pressure on infrastructure at the place of destination  
(b) Shortage of labour at the place of origin  
(c) Imbalance in age and sex  
(d) Intermixing of culture at the place of destination  

SECTION B 

Questions number 18 and 19 are Source-based Questions. 

18. Read the given passage carefully and answer the questions that follow : 3 1=3 

  When you fall ill you go to your family doctor or you call a doctor. 
Sometimes your parents take you to a hospital for treatment. While in 
school, you are taught by your teachers. In the event of any dispute, legal 
opinion is obtained from a lawyer. Likewise, there are many professionals 
who provide their services against payment of their fee. Thus, all types of 
services are special skills provided in exchange of payments. Health, 
education, law, governance and recreation etc. require professional skills. 
These services require other theoretical knowledge and practical training. 
Tertiary activities are related to the service sector. Manpower is an 
important component of the service sector as most of the tertiary 
activities are performed by skilled labour, professionally trained experts 
and consultants.  

  In the initial stages of economic development, larger proportion of 
people worked in the primary sector. In a developed economy, the 
majority of workers get employment in tertiary activity and a moderate 
proportion is employed in the secondary sector.  

(18.1) Explain the main difference between secondary and tertiary 
activities.  1 

(18.2) How have tertiary activities related both production and 
exchange ? 1 

(18.3) Mention any two tertiary activities.  
2
1

+
2
1

=1 
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19. Xr JB© Vm{bH$m H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma 
{b{IE : 3 1=3 

  1901  2011  
df© ZJam|/ZJar`  

g§Hw$bm| H$s g§»`mo 
ZJar` OZg§»`m 

(hµOmam| _|) 
Hw$b OZg§»`m  

H$m % 

XeH$s` d¥{Õ 
(%) 

1901 1,827 25,851·9 10·84  
1911 1,815 25,941·6 10·29 0·35 
1921 1,949 28,086·2 11·18 8·27 
1931 2,072 33,456·0 11·99 19·12 
1941 2,250 44,153·3 13·86 31·97 
1951 2,843 62,443·7 17·29 41·42 
1961 2,365 78,936·6 17·97 26·41 
1971 2,590 1,09,114 19·91 38·23 
1981 3,378 1,59,463 23·34 46·14 
1991 4,689 2,17,611 25·71 36·47 
2001 5,161 2,85,355 27·78 31·13 
2011 6,171 3,77,000 31·16 31·08 

(19.1) ^maV _| {H$g df© _| ZJar` OZg§»`m H$s XeH$s` d¥{Õ gdm©{YH$ Wr ?  1  

(19.2) df© 2001 _| Hw$b {H$VZr ZJar` OZg§»`m Wr ?  1 

(19.3) df© 1901 go 2011 Ho$ _Ü` ^maV _| ZJam| H$s g§»`m _| Hw$b {H$VZr d¥{Õ hþB© ?   1 

: 19
 

^maV _| ZJar` ~pñV`m| H$s {H$Ýht VrZ {deofVmAm| H$mo ñnîQ> H$s{OE &    3 1=3 

IÊS> J 

20 23  

20. (H$) ^maV H$s X{jU-npíM_r nR>ma àXoe  I{ZO noQ>r H$s à_wI {deofVmAm| H$m CëboI 
H$s{OE &  $     3  

 AWdm 
(I) ^maV H$s CÎma-npíM_r àXoe  I{ZO noQ>r H$s à_wI {deofVmAm| H$m CëboI  

H$s{OE &  3 
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19. Study the given table carefully and answer the questions that follow :  3 1=3 

India  Trends of Urbanisation 1901  2011 

Year Number of 
Towns/UAs 

Urban Population 
(in Thousands) 

% of Total 
Population  

Decennial 
Growth (%) 

1901 1,827 25,851·9 10·84  
1911 1,815 25,941·6 10·29 0·35 
1921 1,949 28,086·2 11·18 8·27 
1931 2,072 33,456·0 11·99 19·12 
1941 2,250 44,153·3 13·86 31·97 
1951 2,843 62,443·7 17·29 41·42 
1961 2,365 78,936·6 17·97 26·41 
1971 2,590 1,09,114 19·91 38·23 
1981 3,378 1,59,463 23·34 46·14 
1991 4,689 2,17,611 25·71 36·47 
2001 5,161 2,85,355 27·78 31·13 
2011 6,171 3,77,000 31·16 31·08 

(19.1) In which year was the decennial growth of urban population the 
highest in India ?    1 

(19.2) How much was the total urban population in the year 2001 ?  1 

(19.3) How much was the total growth of number of towns between the 
years 1901 to 2011 in India ?  1 

Note :  The following question is for the Visually Impaired Candidates only 
in lieu of Q. No. 19.  

Explain any three characteristics of urban settlements in India.   3 1=3 

SECTION C 

Questions number 20 to 23 are Short Answer Type Questions. 

20. (a) Mention the main characteristics of the mineral belt of  
-   3 

   OR 

 (b) -Western 
Region     3 
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21. ^maV _| OZg§»`m d¥{Õ H$s àmdñWm H$  (1901  1921) H$mo OZg§»`m d¥{Õ H$s pñWa 
? H$moB© VrZ VH©$ XoH$a ñnîQ> H$s{OE &  3 

22. ^maVr` H¥${f H$s {ZåZ CËnmXH$Vm  H$s g_ñ`m H$mo ñnîQ> H$s{OE &   3 

23. (H$) _mZd àH¥${V Ho$ {Z`_m| H$mo ~ohVa T>§J go g_PZo Ho$ ~mX hr àm¡Úmo{JH$s H$m {dH$mg 
H$a nm`m &  _mZd Ho$ àH¥$VrH$aU Ho$ g§X ©̂ _| Bg H$WZ H$m _yë`m§H$Z H$s{OE &    3  

 AWdm 

(I) _mZdr` {H«$`mAm| H$s N>mn gd©Ì h¡ &  àH¥${V Ho$ _mZdrH$aU Ho$ g§X ©̂ _| Bg H$WZ 
H$m _yë`m§H$Z H$s{OE &  3 

IÊS> K 
24 28 

24. B§{Xam Jm±Yr Zha H$_mZ joÌ _| gVV nmofUr` {dH$mg H$m bú` àmßV H$aZo Ho$ {bE _w»` 
ê$n go nm[apñW{VH$s` gVV nmofUr`Vm na ~b XoZm hmoJm &  Bg H$WZ H$m _yë`m§H$Z 
H$s{OE &  5 

25.  nma-H¡$Zo{S>`Z aob_mJ©  H$ZmS>m H$s Am{W©H$ Y_Zr h¡ &  Cn ẁº$ VH$m] Ûmam Bg H$WZ H$s 
nw{îQ> H$s{OE &  5 

26. A§Vam©îQ>́r` ì`mnma  Ho$ {bE {díd ì`mnma g§JR>Z  H$s ŷ{_H$m H$mo ñnîQ> H$s{OE & 5 

27. (H$) Omb h¡ &  Bg H$WZ H$s 
nw{îQ> H$s{OE &  5 

 AWdm 

(I) ^maVr` aob Omb {díd Ho$ gdm©{YH$ b§~o aob Ombm| _| go EH$ h¡ &  Bg H$WZ H$s 
nw{îQ> H$s{OE &    5 

28. (H$) {díd _| CÚmoJm| H$s AdpñW{V H$mo à^m{dV H$aZo dmbo nm±M à_wI H$maH$m| H$m 
{díbofU H$s{OE &  5 

 AWdm 
(I) 

H$s{OE &   5 
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21. Why is Phase I (1901  1921) of growth of population referred to as a 

giving any three arguments.  3 

22.  3 

23. (a) 

statement in the context of naturalization of humans.  3 

   OR 
 (b) 

Evaluate the statement in context of humanization of nature.  3 

SECTION D 

Questions number 24 to 28 are Long Answer Type Questions. 

24. opment in the Indira Gandhi Canal (Nahar) 
Command Area requires major thrust upon the measures to achieve 

 5 

25.  -
the statement with appropriate arguments.  5 

26.  5 

27. (a) 
Support the statement.    5 

   OR 

 (b)  
Support the statement.    5 

28. (a) Analyse five main factors affecting location of industries in the 
world.       5 

   OR 

 (b) Analyse the classification of industries on the basis of raw 
materials into five heads.    5 
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IÊS> L> 

29 30 

29. g§gma Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 21 na) _| gmV ^m¡Jmo{bH$ bjUm|   
H$mo A, B, C, D, E, F VWm G go {XIm`m J`m h¡ & {H$Ýht   H$s nhMmZ {ZåZ{b{IV 

OmZH$mar H$s ghm`Vm go H$s{OE Am¡a CZHo$ ghr Zm_ CZHo$ nmg ItMr JB© aoImAm| na 

{b{IE :  5 1=5 

A. A\   

B. {dñV¥V dm{UÁ` AZmO H¥${f H$m joÌ   

C. à_wI g_wÐr nÎmZ  

D. Zm¡ n[adhZ Zha    

E. A§Vam©îQ>́r` dm ẁ nÎmZ   

F. Am°ñQ>́o{b`mB© nma_hmÛrnr` aob_mJ© H$m g~go npíM_ H$m ñQ>oeZ   

G. X{jU A_  

: 29

: 5×1=5

(29.1) A\ -gm h¡ ?  

(29.2) AO]Q>rZm Ho$ {dñV¥V dm{UÁ` AZmO H¥${f joÌ H$m Zm_ {b{IE & 

(29.3) OmnmZ Ho$ EH$ à_wI g_wÐr nÎmZ H$m Zm_ {b{IE &  

(29.4) 

{b{IE & 

(29.5) Ý ỳµOrb¢S> Ho$ à_wI dm ẁ nÎmZ H$m Zm_ {b{IE & 

(29.6) bmb gmJa go ŷ_ H$m Zm_ {b{IE & 

(29.7)  
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SECTION E 
Questions number 29 and 30 are Map based Questions. 

29. On the given political outline map of the World (on page 21), seven 

geographical features have been marked as A, B, C, D, E, F and G. 

Identify any five with the help of the following information and write 

their correct names on the lines drawn near them :   5 1=5 

A. The largest country in Africa 

B. An area of extensive commercial grain farming 

C. A major seaport 

D. A shipping canal 

E. An international airport 

F. The westernmost station of the Australian Trans-Continental 
Railway 

G. The largest country in South America 

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 29.  

 Answer any five questions out of the following :  5 1=5 

(29.1) Which is the largest country in Africa ? 

(29.2) Name an area of extensive commercial grain farming in 
Argentina. 

(29.3) Name any one major seaport in Japan. 

(29.4) Name the canal that connects the Atlantic Ocean to the Pacific 
Ocean in the West.  

(29.5) Name a major airport of New Zealand.  

(29.6) Name the canal that connects Red Sea to Mediterranean Sea. 

(29.7) Name the largest country in South America.     

www.studentbro.inwww.studentbro.inwww.studentbro.in



  

64/1/3 18  

30. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 23 na) _| {ZåZ{b{IV gmV ^m¡Jmo{bH$ 

bjUm| _| go {H$Ýht   Ûmam A§{H$V H$s{OE Am¡a CZHo$ Zm_ {b{IE : 5 1=5 

(30.1) gdm©{YH$ OZg§»`m KZËd dmbm amÁ`  

(30.2) 10 {_{b`Z go A{YH$ OZg§»`m dmbm ^maV H$m g~go nydu ZJa   

(30.3) H$nmg H$m AJ«Ur CËnmXH$ amÁ`  

(30.4) CÎma àXoe _| pñWV Vob emoYZ embm  

(30.5) V{_bZmSw> _| pñWV H$mò bo H$s ImZ|   

(30.6) Amo{S>em _| pñWV à_wI g_wÐr nÎmZ  

(30.7) n§Om~ _| pñWV A§Vam©îQ́>r` dm ẁ nÎmZ  

: 30

:  5 1=5

(30.1) ^maV Ho$ gdm©{YH$ OZg§»`m KZËd dmbo amÁ` H$m Zm_ {b{IE & 

(30.2) H$nmg Ho$ AJ«Ur CËnmXH$ amÁ` H$m Zm_ {b{IE &  

(30.3) CÎma àXoe _| {H$g ñWmZ na Vob emoYZ embm pñWV h¡ ?  

(30.4) 10 {_{b`Z go A{YH$ OZg§»`m dmbo ^maV Ho$ g~go nydu ZJa H$m Zm_  
{b{IE &  

(30.5)  pñWV h¢ ? 

(30.6) VyVrH$mo[aZ g_wÐr nÎmZ {H$g amÁ` _| pñWV h¡ ? 

(30.7) n§Om~ _| A§Vam©îQ>́r` dm ẁ nÎmZ {H$g ñWmZ na pñWV h¡ ?  
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30. On the given political outline map of India (on page 23), locate and label 

any five of the following seven geographical features with appropriate 

symbols :  5 1=5 

(30.1) The state with highest density of population 

(30.2) The easternmost city of India having more than 10 million 
population 

(30.3) The leading cotton producing state 

(30.4) Oil Refineries located in Uttar Pradesh 

(30.5) Coal mines located in Tamil Nadu 

(30.6) Major seaport located in Odisha 

(30.7) International Airport located in Punjab 

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 30.  

 Answer any five questions out of the following :  5 1=5

(30.1) Name the state of India with highest density of population. 

(30.2)  Name the leading cotton producing state. 

(30.3) In which place of Uttar Pradesh are oil refineries located ? 

(30.4) Name the easternmost city of India having more than 10 million 
population. 

(30.5) In what state are the Khetri copper mines located ? 

(30.6) In which state is Tuticorin seaport located ? 

(30.7) In which place is the international airport of Punjab located ? 
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àíZ g§. 29 Ho$ {bE For question no. 29 
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àíZ g§. 30 Ho$ {bE   For question no. 30 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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Marking Scheme
Strictly Confidential

(For Internal and Restricted use only)
Senior School Certificate Examination, 2023

SUBJECT: GEOGRAPHY (SUBJECT CODE 029) (PAPER CODE 64/1/3)
General Instructions: -
1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2
“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

3
Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

4
The Marking scheme carries only suggested value points for the answers
These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5
The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6
Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be
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marked. Evaluators will not put right (✓)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7
If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8
If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9
If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10
No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11
A full scale of marks -70 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12
Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13
Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-
● Leaving answer or part thereof unassessed in an answer book.
● Giving more marks for an answer than assigned to it.
● Wrong totaling of marks awarded on an answer.
● Wrong transfer of marks from the inside pages of the answer book to the title page.
● Wrong question wise totaling on the title page.
● Wrong totaling of marks of the two columns on the title page.
● Wrong grand total.
● Marks in words and figures not tallying/not same.
● Wrong transfer of marks from the answer book to online award list.
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark

is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)
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● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14
While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15
Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16
The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18
The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME 2023
(ANNUAL EXAMINATION)

SUBJECT- GEOGRAPHY (029)
PAPER CODE 64/1/3

Set 3
MM:70

Q
No.

EXPECTED ANSWERS/VALUE POINTS Page
No. in
T. B

Distribu
tion of
Marks

SECTION A
Q.No. 1 to 17 are Multiple choice questions

17X1=17

1. (d) (i) – 2 , (ii) – 3, (iii) – 4 , (iv) – 1 Pg.
117
T.B-II

1

2 (c) Medium Pg.111
T.B-I 1

3 (c) Kandla Pg.
129
T.B-II

1

4 (b) Production of grape and citrus fruits Pg. 40
T.B-I

1

5 (c) Denmark Pg. 41
T.B-I

1

6 (d) Only I and IV are correct. Pg. 43
T.B-II

1

7 (a) Indo-European, Dravidian, Austric and Sino-Tibetan Pg.10
T.B-II 1

8 (c) Mizoram Pg.144
T.B-II 1

9 (b) Only I, II and III are correct Pg. 15
T.B-I 1

10 (a) Arunachal Pradesh Pg. 3
T.B-II 1

11 (d) Tamil Nadu, Karnataka, Kerala Pg. 10
T.B-II 1
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12 (c) Australia Pg. 28
T.B-I 1

13 (c) Statements I and II both are correct, Statement II is the
correct result of Statement I.

Pg. 79
T.B-I 1

14 (a) Natural disasters Pg. 12
T.B-I 1

Case Study based answer Q. No. 15 to 17.

15 (a) Money sent by migrants
1

16 (b) Employment
1

17 (c) Imbalance in age and sex
1

SECTION B
Question No. 18 &19 are Source Based

18 (18.1) Difference between secondary and tertiary activities:
(18.1) The main difference between secondary

activities is that the expertise provided by
services relies more heavily on specialized
skills, experience,, and knowledge of the
workers rather than on the production
techniques,machinery and factory process. (1)

(18.2) Relation of tertiary activity with production
and exchange :

i. Professionals provide their services/skill
against the payment of fee e.g. lawyer, doctor,
education, consultants, and skilled labour etc.

ii. Professionals providing their services in
trading (goods and services),transportation
and communication.

Any one point of relation (1)
(18.3) (i) Trade, (ii) Transport,( iii) Health,

(iv) Education
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Any other relevant examples.
Any two examples to be mentioned. (1/2+1/2=1) 3X 1=3

19 (19.1) In which year was the decennial growth of
urban population the highest in India ?

19.1. 1981, 46.14% (1)

(19.2) How much was the total urban population I
the year 2001 ?

19.2. In 2001, the total urban population was
2,85,355. (1)

(19.3) Total growth of number of towns between 1901
to 2011 in India was.

19.3. 4,344 or 238% (1) 1

For Visually Impaired Candidates Only :

The characteristics of urban settlements are:--

i. Urban settlements are generally compact
and large in size.

ii. They are engaged in a variety of non
agricultural, economic and administrative
functions.

iii. Cities are functionally linked to rural areas
and towns around them.

iv. Exchange of goods and services take place.

v. Any other relevant point.

Any three characteristic to be explained

Pg.34

T.B .II

3X 1=3

3X 1=3

SECTION C

Q.No. 20 to 23 are Short Answer Type Questions

3 X 4=12

20 (a). The characteristics of the mineral belt of SW Plateau
region of India are-

i. This belt extends over Karnataka, Goa, and
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contiguous Tamil Nadu uplands and Kerala.
ii. This belt is rich in ferrous metals and bauxite.
iii. It also contains high grade iron ore,

manganese and limestone.
iv. This belt lacks in coal deposits except the

Neyveli lignite mines.
v. Any other relevant point. 31=3

Any three points to be mentioned. Pg. 73 T.B-II
OR

(b) The characteristics of the mineral belt of NW
Region of India are-
i. This belt extends along Aravali in Rajasthan
and part of Gujarat.

ii. Minerals are associated with Dharwar system
of rocks.

iii. Copper, zinc have been major minerals.
iv. Rajasthan is rich in building stones, i.e.

sandstone, granite, marble etc.
v. Any other relevant point. 31=3

Any three points to be mentioned.

Pg.73

T.B.II

Pg .73

T.B .II

3X 1=3

3X 1=3

21 Phase I (1901-1921) of population growth is referred to as
the period of stationary growth of population because-

i. Growth rate was very low even recording a
negative growth rate.

ii. During this period birth rate and death rate
were very high.

iii. Poor health and medical services, illiteracy of
people at large and inefficient distribution
system of food and other basic necessities
were largely responsible for a high birth rate
and death rate in this period.

iv. Any other relevant point. 31=3
Any three arguments to be explained.

Pg. 7
T.B II

3X 1=3
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22 Explain the problem of ‘low productivity’ in Indian
agriculture.

i. The yield of the crops in the country is low
in comparison to the international level.

ii. Per hectare output of most of the crops
such as rice, wheat, cotton and oil seeds in
India is much lower than that of the USA,
Russia, and Japan.

iii. Labour productivity in Indian agriculture
is very low in comparison to international
level.

iv. Any other relevant point. 31=3
Any three problems to be explained.

Pg .56

T.B II
3X 1=3

23 (a) “ Human beings were able to develop technology after
they developed better understanding of natural laws.”
Evaluate the statement in the context of naturalization
of humans.

i. Technology indicates the level of cultural
development of society.

ii. The understanding of concepts of friction and heat
helped us discover fire.

iii. Understanding of the secrets of DNA and genetics
enables us to conquer in any diseases.

iv. We use the laws of aerodynamics to develop
faster planes.

v. Knowledge about nature is extremely important to
develop technology, and technology loosens the
shackles of environment on human beings.

vi. In the early stages of their interaction with their
natural environment humans were greatly
influenced by it.

vii. Any other relevant point.
Any three points to be analyzed. Pg. 2 T.B-I

OR

Pg. 2
T.B- I

3X 1=3
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(b) “ The imprints of human activities are created
everywhere.” Evaluate the statement in the context
of humanization of nature.

i. The people begin to understand their
environment and the forces of nature with the
passage of time.

ii. With social and cultural development humans
develop better and more efficient technology.

iii. They move from a state of necessity to a
state of freedom.

iv. They create possibilities with resources
obtained from the environment.

v. The human activities create cultural
landscape e.g. health resorts on highlands,
huge urban sprawls, fields, orchards and
pastures in plains and rolling hills, ports,
oceanic routes on oceanic surface and
satellites.

vi. Any other relevant point.
Any three points to be evaluated.

Pg.3
T.B -I

3X 1=3

SECTION D
Q.No. 24 to 28 are Long Answer Type Questions

5 X 5=25

24 “ Attaining sustainable development in the Indira Gandhi
Canal (Nahar) Command Area requires major thrust upon
the measures to achieve ecological sustainability.” Evaluate
the statement.

i. The first requirement is strict implementation of
water management policy.

ii. The canal project envisages protective
irrigation in Stage-I and extensive irrigation of
crops and pasture development in Stage-II.

iii. In general, the cropping pattern shall not
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include water intensive crops. People should
be encouraged to grow plantation crops such
as citrus fruits.

iv. The CAD programmes such as lining of
water courses, land development and
levelling and warabandi system shall be
effectively implemented to reduce the
conveyance loss of water.

v. The areas affected by water-logging and soil
salinity shall be reclaimed.

vi. The eco-development through afforestation
shelter belt plantation and pasture
development is necessary particularly in the
fragile environment of Stage-II.

vii. Any other relevant point.
Any five points to be explained.

Pg .111
T.B .II

5X1=5

25 “ ‘Trans-Canadian Railways’ is the economic artery of
Canada.” Support the statement with appropriate
arguments.

i. This is 7,050 km. long rail line in Canada.
ii. Runs from Halifax in the east to Vancouver on

the Pacific coast.
iii. It was constructed in 1886 initially as part of

an agreement.
iv. It has important economic significance

because it connected the Quebec-Montreal
Industrial region with wheat belt of the
Prairie Region.

v. A loop line from Winnipeg to Thunder Bay
connects this railway line with one of the
important waterways of the world.

vi. Wheat and meat are the important exports

Pg. 70
T.B. I

5X1=5
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on this route.
vii. Any other relevant point.

Any five points to be explained.

26 The role of WTO for international trade is as follows-
i. WTO is the only international organization

dealing with the global rules of trade between
nations.

ii. It sets the rules for the global trading system
and resolves dispute.

iii. WTO also covers trade in services.
iv. In 1994, the member countries of GATT

decided to set up a permanent institution for
free and fair trade amongst nations.
Therefore, WTO came into being in Jan 1995.

v. Promotion of free and fair trade.
vi. The head quarter of WTO is located at

Geneva, Switzerland.
vii. India is one of the founder members.
viii. Any other relevant point.

Any five points to be explained

Pg .86
T.B. I

5X1=5

27 (a) “India has one of the second largest road networks in he
world”. Support the statement.

i. About 85% of passengers are carried by roads
every year.
ii. 70% of freight traffic are carried by roads
every year.
iii. For the purpose of construction and
maintenance roads are classified as N.H., S.H.,
Major District Roads and Rural Roads.
iv. NH connect the state capitals, major cities,
ports, railway junctions etc. e.g. Golden
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Quadrilateral, North-South and East-West
corridors.
v. SH connects state capital with the district
head quarters.
vi. District roads connect district head quarters
with important nodes in the district.
vii. Most of the roads in rural areas provide vital
links.
viii. Border roads are of strategic importance in
frontier areas.
ix. Any other relevant point. 51=5

Any five points to be explained. Pg. 114 T.B-II
OR

(b) “Indian Railways network is one of the longest in
the world”. Support the statement.
i. Indian Railways is the largest government
undertaking in the country.
ii. It facilitates the movement of passengers and
goods and contributes to the growth of economy..
iii. It integrates the people of different castes,
religion, culture and economic conditions.
iv. In India, the railway system has been divided
into 16 zones for better management of railways.
v. Konkan Railway is an important achievement
of Indian Railways.
vi. Railway system is being upgraded e.g. the
operation of the Metro in cities.
vii. Any other relevant point.

Any five points to be explained.

Pg.114
T.B-II

Pg.118
T.B-II

5X1=5

5X1=5

28 (a) Factors affecting the location of industries in the world
are-

i. Access to market.
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ii. Access to raw material.
iii. Access to labour supply.
iv. Access to sources of energy.
v. Access to transportation and communication

facilities.
vi. Government policy.
vii. Any other relevant point.

Any five points to be analyzed.
OR

(b) The classification of industries on the basis of raw
materials are-

i. Agro-based industries.
ii. Mineral-based industries.
iii. Chemical-based industries.
iv. Forest-based industries.
v. Animal-based industries.
vi. Any other relevant point. 51=5

Any five points to be analyzed.

Pg.46
& 47

T.B .I

Pg.
50,51
T.B-I

5X1=5

5X1=5

SECTION E
Q. No. 29 &30 are Map Based Questions

29 See attached Map.
For Visually Impaired Candidates Only.

(Answer any five)
29.1.Algeria
29.2. Pampas
29.3. Yokohama
29.4. Panama
29.5. Auckland/Wellington
29.6. Suez
29.7.Brazil

5X1=5

30 See attached Map.
For Visually Impaired Candidates Only. 5X1=5
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(Answer any five)
30.1. Bihar
30.2. Gujarat
30.3. Mathura
30.4. Kolkata
30.5. Rajasthan
30.6. Tamil Nadu
30.7. Amritsar
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